XEREICODE. TEREOAFEELHYET,

TEEA[ I Z

=HATEA AJIEE

BEK#E5 R UM B BEK R DEERIK R

S5E6H 15H20: 300 IR

It S B BR AKX S

s 4 BB HEKEE S ELIR BHEk= EIRBAR AR EERE T B
75 A BHEKk 5 _ _ _
GBI Se oy
I #4 BE HE K #15
MBI O. 5m3/s Om3 — —
%*(’I'l'\*gﬁf)%% 10m3/s IEERIR T 147, 300m3 14H10:30 15H9:39
A2 HEK IS
UNEJID 30m3/s — Om3 — —
@fg’ﬂ%b’% 23. 1m3/s BELRIRT 652, 500m3 14H11:00 15H20:30
FRMEEEKERR
MBI % 10m3/s — Om3 — —
J\ [ 5
Fﬂﬁi?ég%ﬁﬁ%iﬁ 30m?3/s — Om3 — —
NP =
f m%ﬂ aﬁﬁﬁﬁﬁ % 2m3/s _ Om? _ _
=M aBEKIERR 4m/s _ Om?3 _ _

(&I




SEN-NEN HEKE

FIHRIIN

J\FE1YE ) BE K #15

S R UM KRR LER
EIL

fFHH

X
‘--4-----‘\‘_‘
Pe o T o
¢ 7 s
e 1 5H i~
~. o
7 /j(’l-nvr'.f
$ -
L4
t
S~V a
& F
B L s / o
IR g R B BmIRRET S (
7 ¢ b R T o =% IJJ\\‘”L §
p. -, e . e -_— L "’"\_::) IR P o
BB } ‘ 2K = Sl By i
& meEn W {
/"""/"k- N L
4 ) | A wrE {
‘:‘____.-._ ',F\f\--fr\ : ...J.J"?S
BT N, A
IR BEKB5 = ARINEEK S N & BE KBS 7R B kS

[

FFHEK %5
PR E BRI

J




